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Chapter 11 & 12
(THERMOCHEMISTRY & ELECTROCHEMISTRY)

SECTION - A

Time allowed: 20 minutes Marks: 17

Note:  Section-A is compulsory. All parts of this section are to be answered on the question paper itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Encircle the correct optioni.e. A/ B/ C/D. All parts carry equal marks.

(i) Enthalpy is measured at:?
(@ 300K &2atm (b)300K & 2atm (c) 300 K& 1atm (d) 295 K & 1 atm

(if) For the reaction NaOH + HCI -------- > NaCl + H20, the change in
enthalpy is called:

(a) Heat of Neutralization (b) Heat of Combustion
(c) Heat of formation (d) Heat of reaction

(iii) Reaction of water with quick lime results in the rise of temperature.
Indicate the nature of the reaction:

(@) Endothermic reaction (b) Third order reaction

(c) Non-spontaneous reaction (d) Exothermic reaction

(iv) Mg () + % Oz (g)----------- > MgO  AH = -692 kj.mol™* at STP. Enthalpy
of the above reaction will be called:

(@) AHgt (b) AH; (¢) AHsol (d) AHs

(V) Born Haber’s cycle enables us to calculate:
(a) Heat energy (b) Lattice Energy  (c) Heat of Hydration (d) Heat of Solution

(vi) One joule is equivalent to calori.
(@) 1/ 4.184 (b) 1/ 41.84 (c) 4.184 (d) 41.84

(vii) When a pressure of 500 Nm™ is applied and volume change from 0.05 m?
then work done by the system is:

(a) 10 J (b) -10J

(c)-251 (d) +251



(viii) The standard enthalpy of formation is zero for:
(@ H20 (b) NaCl (c) ZnO (d) N2

(ix) Which one pair has the same oxidation state of ‘Fe’:
(@) FeSO4 & FeCls  (b) FeClo & FeCls (c) FeSO4 & FeClz (d) None of these

(x) In all oxidation reactions, atoms of an element in a chemical species lose
electrons and increase their:

(a) Oxidation states (b) Reductions

(c) Electrode (d) Negative charges

(xi) Stronger the oxidizing agent greater is the:

(a) Redox potential (b) emf of the cell

(c) Oxidation potential (d) Reduction Potential

(xii) Lead acid batteries discharge with time because of:

(a) Deposition of PbSO, at anode (b) Deposition of PbSO4 at cathode
(c) BothA & B (d) Acid Neutralizes with time

(xiii) Study the following redox reaction:

10 CI" + 16 H" + 2MnOy4 ----- >5Cl; + 2 Mn*2+ 8 H.0
(a) Manganese is oxidized from +7 to +2 (b) Chlorine is reduced from 0 to -1
(c) Chlorine ions are reduced from -1to 0 (d) Manganese is reduced from +7 to +2

(xiv) Coinage metals Cu, Ag and Au are the best reactive because they have:
(a) Negative reduction Potential (b) Negative oxidation potential
(c) Positive reduction Potential (d) Positive oxidation Potential

(xv) 2.5 Fd of electricity is passed through solution of CuSO4. The number of
gram equivalents of Cu deposited on the cathode would be:

(@1 (b) 2 (c) 25 (d) 1.25

(xvi) The number of moles of Cr deposited by passing 1.5 F electricity in the
following reaction: Cr*® + 3¢ -------- > Cr will be?

(@) 0.5 moles  (b) 1.0 moles (c) 1.5 moles (d) 3 moles

(xvii) What is added with S in order to balance the following equation:

(@) 2H", le (b) 2H", 3¢ (c)2H" , 4 ¢ (d) 2H", 2¢



Time allowed: 2.40 hours Total Marks: 68

Note: Answer any eleven parts from Section ‘B’ and Attempt any two questions from Section ‘C’
on the separately provided answer book. Use supplementary answer sheet i.e. Sheet-B if
required. Write your answers neatly and legibly.

SECTION - B (Marks 42)

Q.2 Attempt any Fourteen parts from the following. All parts carry equal marks.
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SECTION - C (Marks 26)
Attempt any Two Questions from the following.
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